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! Question Description What kind of individuals were not associated with the Indian national movement?
A Communists
B Moderates
c Imperialists
D Swarajists
E None of the above
Correct Answer C

Marks 1



Question Description What is the term for the process by which forests naturally regenerate after disturbances like fire or logging?

A Reforestation

B Afforestation

c Secondary succession
D Natural regrowth

E None of the above
Correct Answer C

Marks 1



Question Description In which of the following regions of India are shale gas resources found?
1.Cambay Basin
2.Cauvery Basin
3.Krishna-Godavari Basin

Select the correct answer using the code given below.

A 1 and 2 only

B 3 only

c 2 and 3 only

D 1,2 and 3

E None of the above
Correct Answer D

Marks 1



Question Description What is the primary factor driving the loss of biodiversity?

A Habitat destruction
B Climate change

c Invasive species

D Overexploitation

E None of the above
Correct Answer A

Marks 1



Question Description Who among the following was not associated with Kakori conspiracy case?

A Rajendra Lahiri

B Ashfaqullah Khan

c Thakur Roshan Singh
D Shaukat Usmani

E None of the above
Correct Answer D

Marks 1



®  Question Description Consider the following States:
Andhra Pradesh
Kerala
Himachal Pradesh
Tripura
How many of the above are generally known as tea-producing States?

A Only one State

B Only two States

c Only three States
D All four States

E None of the above
Correct Answer C

Marks 1



Question Description Consider the following pairs-

Tribe State

1. Limboo (Limbu) Sikkim

2. Karbi Himachal Pradesh

3. Dongaria Odisha

4, Bonda Tamil Nadu

Which of the above pairs are correctly matched?

A 1 and 3 only

B 2 and 4 only

c 1, 3 and 4 only

D 1,2,3and 4

E None of the above
Correct Answer A

Marks 1



Question Description Jawaharlal Nehru’s reluctance to re-organise states on the linguistic basis had the support of which of the following?

A Vallabhbhai Patel, C. Rajagopalachari

B Mahatma Gandhi, Vallabhbhai Patel

c Mahatma Gandhi, Vallabhbhai Patel, E. M. S. Namboodaripad.

D Mahatma Gandhi, Vallabhbhai Patel, E. M. S. Namboodaripad, C. Rajagopalachari
E None of the above

Correct Answer A

Marks 1



9 Question Description Which of the following is not a right of the consumer

A Right to safety

B Right to be heard

c Right to Consumer education
D All of the above

E

None of the above

Correct Answer E

Marks 1



10" Question Description Who is responsible for interdepartmental coordination in the State Government in the policy making process?

A Directorates

B Principal Secretary of the Chief Minister
c Chief Secretary

D Home Secretary

E None of the above

Correct Answer C

Marks 1



1" Question Description A party is recognized as a state party in a state if it secures 6% of the valid votes polled in the state at a general election

to the legislative assembly of the state concerned and in addition, it wins --------- seats in the assembly of the state
concerned

A 5

B 4

c 3

D 2

E None of the above

Correct Answer D

Marks 1



12" Question Description On the eve of 7" Lok Sabha general elections there were -------- national parties .

A 6
B 7
c 8
D 5
E None of the above
Correct Answer B
Marks 1
13 Question Description What is the primary focus of environmental ecology?
A Conservation of energy
B Conservation of biodiversity
c Conservation of minerals
D Conservation of water
E None of the above
Correct Answer B

Marks 1



14 Question Description The protection of Human Rights Act provides for the establishment of Human Rights Courts in every district by the

State Government with the concurrence of

A Governor

B Advocate General

c Chief Justice of High Court
D District Judge

E None of the above

Correct Answer C

Marks 1



15 Question Description

Correct Answer

Marks

With reference to ‘Changpa Community of India, consider the following
statement:

1. They live mainly in the State of Uttarakhand.

2. They rear the Pashmina goats that yield fine wool.

3. They are kept in the category of Scheduled Tribes.

Which of the statements given above is/are correct?

1 only

2 and 3 only
3 only

1,2 and 3

None of the above



16 Question Description Which of the following can be termed Gandian ideology among the Directive Principles ?
1. Prevention of cow slaughter
ii. Promotion of cooperative societies
iii. Establishment of village panchayat

iv. Uniform civil code for the country

Select the correct answer using the codes given below

A iand ii

B i and iii

c 1, 11 and 1ii

D All of these

E None of the above
Correct Answer C

Marks 1



17 Question Description Which of the following is/are correct regarding the preamble of Indian Constitution?
1. Preamble 1s non-justiciable
ii. The preamble to the Indian Constitution is based on the ‘Objective Resolution’ drafted and moved by B R Ambedkar
1i1. It secures political justice to all of its citizens

iv. The idea of preamble is borrowed from the Constitution of USA

Select the correct answer using the codes given below

A iand ii

B i1 and iii

c iii and iv

D 1 and ii1, 1v

E None of the above
Correct Answer D

Marks 1



18 Question Description As per RTI Act request for information shall be disposed by PIO within 30 days of receipt in general cases and within
48 hours of receipt in cases where the information sought for concerns the life or liberty of a person, subject to that a
period of --------- days shall be added in computing the response time where an application for information is given by
an Assistant Information Officer.

A 3 days

B 5 days

c 7 days

D 10 days

E None of the above
Correct Answer B

Marks 1



19 Question Description Which of the following features of Panchayati Raj, envisaged under the 73rd Amendment of the Constitution is/are
correctly listed?
1) The elections to the Panchayats will be held by the Union Election Commission
i1) There 1s mandatory reservation of seats for STs /SCs and women
iii) The Panchayat shall have a fixed term of 5 years and if dissolved before the expiry of this term, the elections must
be held within 6 months.

Select the correct answer using the codes given below

A iand ii

B 11 and 111

© Only ii

D All of these

E None of the above
Correct Answer B

Marks 1



20 Question Description Who among the following were the leaders of the Indigo revolt in 1859-60?

A Birsa Munda and Gaya Munda
B Digambar Biswas and Bishnu Biswas
c Dinabandhu Mitra and Madhusudan Datta
D Buddhu Bhagat and Jhindari Monak
E None of the above
Correct Answer B
Marks 1
21" Question Description The president promulgated the protection of Human Rights Ordinance on ---
A August 28™ 1993
B September 281 1993
c October 2811993
D November 28" 1993
E None of the above
Correct Answer B

Marks 1



22 Question Description Members of State Human Rights Commission should be serving or retired Judge of a High Court or a District Judge in

the state with a minimum of ------ experience as a district judge
A 3 years
B 5 years
c 7 years
D 10 years
E None of the above
Correct Answer C

Marks 1



23 Question Description Eutrophication of water bodies is mainly caused by an excess of:

A Phosphorus

B Nitrogen

© Carbon

D Oxygen

E None of the above
Correct Answer A

Marks 1



24 Question Description 73' Amendment Act has given a particular shape to Art.-------- of the Constitution .

A Art. 40

B Art.41

c Art.42

D Art.43

E None of the above
Correct Answer A

Marks 1



25 Question Description National Human Rights Commission consist of

A A chairperson and five members
B A chairperson and four members
c A chairperson and three members
D Including chairperson seven members
E None of the above
Correct Answer A
Marks 1
26 Question Description The term "biomagnification" refers to the:
A Increase in the number of species in an ecosystem
B Accumulation of pollutants in higher trophic levels of a food chain
c Restoration of a degraded ecosystem
D Natural increase in the biomass of a forest
E None of the above
Correct Answer B

Marks 1



27 Question Description Which newspaper was started by Robert Knight?

A Voice of India
B Indian Mirror
c Dinabandhu
D The Statesman
E None of the above
Correct Answer D
Marks 1
28 Question Description Article 340 of the Constitution deals with
A Backward class commission
B Election Commission
c Union Public Service Commission
D Finance Commission
E None of the above
Correct Answer A

Marks 1



29

Question Description The word public in public policy refers to
A People

B Voters

c Government

D Political party

E None of the above

Correct Answer C

Marks 1



30" Question Description The black cotton soil of India has been formed due to the weathering of

A Brown forest soil

B Fissure volcanic rock
c Granite and schist

D Shale and limestone
E None of the above
Correct Answer B

Marks 1



31 Comprehension

Question Description

A

Correct Answer

Marks

Read the following passage and answer the questions below:

It is believed by many that the pharma industry in our country preys on pestilence for profits. As the primary sector
thrives under the benevolent monsoons, the food grain production may hike by hundreds of million tonnes. The
generous use of pesticide is said to be a key factor in this race for a quantum jump in agricultural productivity in the
country. On the basis of target species pesticides can be divided into four broad categories, namely, insecticides,
herbicides, fungicides and rodenticides. Presently, insecticides contribute to nearly 75 per cent of the turnover of the
pesticide industry. But in the West the trend is different: fungicides and herbicides account for the largest share of
consumption in those countries.

In the above passage “pestilence” is used to imply

rise in bubonic plague

increase in irritation

proliferation of pests

growth of disease

None of the above



32 Comprehension

Question Description

A

Correct Answer

Marks

Read the following passage and answer the questions below:

It is believed by many that the pharma industry in our country preys on pestilence for profits. As the primary sector
thrives under the benevolent monsoons, the food grain production may hike by hundreds of million tonnes. The
generous use of pesticide is said to be a key factor in this race for a quantum jump in agricultural productivity in the
country. On the basis of target species pesticides can be divided into four broad categories, namely, insecticides,
herbicides, fungicides and rodenticides. Presently, insecticides contribute to nearly 75 per cent of the turnover of the
pesticide industry. But in the West the trend is different: fungicides and herbicides account for the largest share of

consumption in those countries.

The term used in the above passage to refer to the pesticide variant that targets “gnawing mammals” is --------
herbicide

insecticide

fungicide

rodenticide

None of the above



33

34

Comprehension

Question Description

Correct Answer

Marks

Read the following passage and answer the questions below:

It is believed by many that the pharma industry in our country preys on pestilence for profits. As the primary sector
thrives under the benevolent monsoons, the food grain production may hike by hundreds of million tonnes. The
generous use of pesticide is said to be a key factor in this race for a quantum jump in agricultural productivity in the
country. On the basis of target species pesticides can be divided into four broad categories, namely, insecticides,
herbicides, fungicides and rodenticides. Presently, insecticides contribute to nearly 75 per cent of the turnover of the
pesticide industry. But in the West the trend is different: fungicides and herbicides account for the largest share of

consumption in those countries.

From the options provided below, identify the one that comes closest to the overall sense of the passage

In India the trend is to prefer insecticides; in the West it is for herbicides and fungicides
In India the agricultural consumption of pesticides is controlled; in the West it is not so.
In India the turnover of pesticides is very high; in the West the situation is identical.

In India the turnover of insecticides is high; in the West the trend is different.

None of the above

A
1



Comprehension Read the following passage and answer the questions below:

It is believed by many that the pharma industry in our country preys on pestilence for profits. As the primary sector
thrives under the benevolent monsoons, the food grain production may hike by hundreds of million tonnes. The
generous use of pesticide is said to be a key factor in this race for a quantum jump in agricultural productivity in the
country. On the basis of target species pesticides can be divided into four broad categories, namely, insecticides,
herbicides, fungicides and rodenticides. Presently, insecticides contribute to nearly 75 per cent of the turnover of the
pesticide industry. But in the West the trend is different: fungicides and herbicides account for the largest share of

consumption in those countries.

Question Description “The generous use of pesticide is said to be a key factor in this race for a quantum jump in agricultural productivity in
the country.”
In the above sentence, “this race” implies

A the generous use of pesticides

B a quantum jump in productivity

c enhancement of agricultural productivity
D key factor in agricultural productivity

E None of the above

Correct Answer C

Marks 1



35 Comprehension

Question Description

A

Correct Answer

Marks

Read the following passage and answer the questions below:

It is believed by many that the pharma industry in our country preys on pestilence for profits. As the primary sector
thrives under the benevolent monsoons, the food grain production may hike by hundreds of million tonnes. The
generous use of pesticide is said to be a key factor in this race for a quantum jump in agricultural productivity in the
country. On the basis of target species pesticides can be divided into four broad categories, namely, insecticides,
herbicides, fungicides and rodenticides. Presently, insecticides contribute to nearly 75 per cent of the turnover of the
pesticide industry. But in the West the trend is different: fungicides and herbicides account for the largest share of

consumption in those countries.

From the options given below identify the antonym of the word “generous” in the sense it is used in the passage

frugal

unkind

excessive

malevolent

None of the above

A
1



36

37

Comprehension

Question Description

A

Correct Answer

Marks

Read the following passage and answer the questions below:

The World Health Organization is popularly known as W.H.O. in brief. It is a specialized agency of the United Nations
and was established in 1948. International health workers can be seen to be working in all kinds of surroundings: in
deserts, jungles, mountains, coconut groves, and rice fields. They help the sick to attain their health and the healthy to
maintain their health. This global health team helps the local health workers in stopping the spread of what are called
the communicable diseases, like cholera. These diseases can be spread from one country to another and so can be a
threat to world health. W.H.O. assists different national health authorities not only in controlling diseases but also in
preventing them. Total prevention is possible in a number of ways altogether in a number of ways such as vaccination,

spraying of houses with poisonous substances which kill disease-carrying insects.
Find a word or a phrase from the passage that means ‘contagious or infectious’
communicable

cholera

disease

disease carrying insects

None of the above

A
1



Comprehension

Question Description

A

Correct Answer

Marks

Read the following passage and answer the questions below:

The World Health Organization is popularly known as W.H.O. in brief. It is a specialized agency of the United Nations
and was established in 1948. International health workers can be seen to be working in all kinds of surroundings: in
deserts, jungles, mountains, coconut groves, and rice fields. They help the sick to attain their health and the healthy to
maintain their health. This global health team helps the local health workers in stopping the spread of what are called
the communicable diseases, like cholera. These diseases can be spread from one country to another and so can be a
threat to world health. W.H.O. assists different national health authorities not only in controlling diseases but also in
preventing them. Total prevention is possible in a number of ways altogether in a number of ways such as vaccination,

spraying of houses with poisonous substances which kill disease-carrying insects.

The phrase “international health workers™ in the passage is used to imply that they
promote co-operation among all the nations

drawn from all the countries

belong to the whole world

work for the organization of many nations

None of the above






38 Comprehension

Question Description

Correct Answer

Marks

Read the following passage and answer the questions below:

The World Health Organization is popularly known as W.H.O. in brief. It is a specialized agency of the United Nations
and was established in 1948. International health workers can be seen to be working in all kinds of surroundings: in
deserts, jungles, mountains, coconut groves, and rice fields. They help the sick to attain their health and the healthy to
maintain their health. This global health team helps the local health workers in stopping the spread of what are called
the communicable diseases, like cholera. These diseases can be spread from one country to another and so can be a
threat to world health. W.H.O. assists different national health authorities not only in controlling diseases but also in
preventing them. Total prevention is possible in a number of ways altogether in a number of ways such as vaccination,

spraying of houses with poisonous substances which kill disease-carrying insects.

‘It 1s a specialized agency of the United Nations and was established in 1948.”
Here the word “specialized” means

extraordinary

expert

made suitable for a purpose
uncommon

None of the above

C

1



39 Comprehension

Question Description

Correct Answer

Marks

Read the following passage and answer the questions below:

The World Health Organization is popularly known as W.H.O. in brief. It is a specialized agency of the United Nations
and was established in 1948. International health workers can be seen to be working in all kinds of surroundings: in
deserts, jungles, mountains, coconut groves, and rice fields. They help the sick to attain their health and the healthy to
maintain their health. This global health team helps the local health workers in stopping the spread of what are called
the communicable diseases, like cholera. These diseases can be spread from one country to another and so can be a
threat to world health. W.H.O. assists different national health authorities not only in controlling diseases but also in
preventing them. Total prevention is possible in a number of ways altogether in a number of ways such as vaccination,
spraying of houses with poisonous substances which kill disease-carrying insects.

“W.H.O. assists different national health authorities not only in controlling diseases but also in preventing them.”
The above sentence implies that
W.H.O. assists more in controlling diseases than in preventing them

W.H.O. assists both in controlling diseases and in preventing them

W.H.O. assists in controlling diseases that have not been prevented
W.H.O. assists many others besides national health authorities

None of the above



40 Comprehension

Question Description

Correct Answer

Marks

Read the following passage and answer the questions below:

The World Health Organization is popularly known as W.H.O. in brief. It is a specialized agency of the United Nations
and was established in 1948. International health workers can be seen to be working in all kinds of surroundings: in
deserts, jungles, mountains, coconut groves, and rice fields. They help the sick to attain their health and the healthy to
maintain their health. This global health team helps the local health workers in stopping the spread of what are called
the communicable diseases, like cholera. These diseases can be spread from one country to another and so can be a
threat to world health. W.H.O. assists different national health authorities not only in controlling diseases but also in
preventing them. Total prevention is possible in a number of ways altogether in a number of ways such as vaccination,

spraying of houses with poisonous substances which kill disease-carrying insects.

“They help the sick to attain health and the healthy to maintain their health”.

Here, “they” refers to
surroundings of health workers
members of the W.H.O.
deserts, jungles and rice fields
international health workers

None of the above



41" Question Description Which Indian city was recently named the 'City of Literature' by UNESCO, making it the first city in India to receive
this distinction?

A Delhi

B Chennai

c Kozhikode

D Bangalore

E None of the above
Correct Answer C

Marks 1



42 Question Description Which cricketer became the first player to be timed out in an international cricket match?

A Angelo Mathews
B Shakib Al Hasan
c Tamim Igbal
D Mustafizur Rahman
E None of the above
Correct Answer A
Marks 1

43 Question Description Which country conducted a Minuteman I1I missile launch recently?
A Russia
B China
c UsS
D North Korea
E None of the above
Correct Answer Cc

Marks 1



44 Question Description Which university is launching its own satellite in India?

A Indian Institute of Technology Delhi
B Jawaharlal Nehru University
c University of Mumbai
D Aligarh Muslim University
E None of the above
Correct Answer D
Marks 1
45 Question Description Which Indian institute launched a Center of Excellence (CoE) called ATMAN to monitor air quality and enhance air

quality across urban and rural areas of India?

A IIT Bombay

B IIT Delhi

c IIT Kanpur

D IIT Madras

E None of the above
Correct Answer C

Marks 1



40" Question Description Which country's women's hockey team won the gold medal at the Women’s Asian Champions Trophy 2023?

A India

B Japan

c China

D South Korea

E None of the above
Correct Answer A

Marks 1



47" Question Description Which global technology leader partnered with TATA Play Fiber to launch India's first WiFi6-ready broadband

network?
A Samsung
B Apple
c Nokia
D Huawei
E None of the above
Correct Answer C

Marks 1



48 Question Description When is International Day for Biosphere Reserves celebrated?

A November 3rd

B November 4th

c November 5th

D November 6th

E None of the above
Correct Answer A

Marks 1



49 Question Description Who was awarded the 19th 'Kalakar Puraskar' for their contributions to Konkani music?

A John Aguiar

B Jhon d'silva

c Remo Fernandes

D Apolinaris D’Souza
E None of the above
Correct Answer D

Marks 1



%0 Question Description Rafah border crossing is located between which of the following?

A Egypt and Israel
B Gaza Strip and Israel
c Egypt and the Gaza Strip
D Israel and the West Bank
E None of the above
Correct Answer C
Marks 1
51 Question Description Odd man out (sentence )
A Unani owes its origin to ancient Persia.
B Meditation is considered to be beneficial for people suffering from stress related disorders.
c Homeopathy is a form of Indian medicine.
D The cure for many diseases which were earlier considered fatal have been developed in Allopathy.
E None of the above
Correct Answer B

Marks 1



52 Question Description G is the father of K, who is the brother of B. K married to U. B is the daughter of C. D is the father of U and M is the
only son of D. How is U related to C?

A Daughter

B Daughter-in-law
c Granddaughter

D Son-in-law

E None of the above
Correct Answer B

Marks 1



%3 Question Description The present age of Bob is equal to Abby’s age 8 years ago. Four years hence, the respective ratio between Bob’s age
and Abby’s age will be 4 : 5 at that time. What is Bob’s present age?

A 24 years

B 32 years

c 40 years

D 28 years

E None of the above
Correct Answer D

Marks 1



54 Question Description Directions: Read the following information carefully and answer the question given beside.
In a code language,
start walk stop diet is coded as 8% #21 387 *6
walk rest start bite is coded as #9 *6 2@9 #21
stop work diet rest is coded as *78 8% 357 #9

bite rest start diet is coded as 2@9 #9 *6 3%7

Find the code for 'work diet™?
A 3$7#9 B.AT83$7  CAT8H9 DL3ST*G

A A
B B
c C
D D
E None of the above
Correct Answer B

Marks 1



%5 Question Description Read the following information carefully and answer the questions given thereof:

In a certain code language

‘this is not me’ is written as ‘ar rt st pt’
‘not you but him’ is written as ‘mn we rt gs’
‘me and you come’ is written as ‘yu mn pt xr’

‘but this is him’ is written as ‘ar we st gqs’

What is the code for ‘me’ according to the given code language?

A gs

B mn

c rt

D pt

E None of the above
Correct Answer D

Marks 1



%6 Question Description Cheenu has a family of eight members. Bablu is the eldest male member of the family. Haryali is the daughter-in-law of
Neelu and sister-in-law of Sonu and Anku. Apart from Cheenu and Bablu, only Sonu is a male member of the family.
Anku is the aunt of Cheenu’s two daughters Saba and Daya.
Who is the husband of Haryali?

A Bablu

B Sonu

c Cheenu

D Neelu

E None of the above
Correct Answer C

Marks 1



57 Question Description
Select the missing number from the given alternatives:

28 5 R 46

35 8 /5 72

22 7 |7 112

A 135, 6

B 126,4

c 124,8

D 135,5

E None of the above
Correct Answer A

Marks 1



%8 Question Description Direction: In each of the following question, there is a certain relationship between two given pair on both side of "::' .
One word is given on another side of "::' while another word is to be found from the given options, having the same

relation with this word as the words of the given pair . Choose the correct word from the following options.

8:39::72:7
A 64
B 312
c 351
D 300
E None of the above
Correct Answer C

Marks 1



59 Question Description

Correct Answer

Marks

60 Question Description

How many such pair(s) of letters are there in the word ‘POCKETBOOK’ which have as many letters between them as
in the alphabetical series as we move from left to right?

One
Two
Three
Four

None of the above

Refer to the data given below and answer the questions that follows:

Shabnam is considering three alternatives to invest her surplus cash for a week. She wishes to guarantee maximum
returns on her investment. She has three options, each of which can be utilized fully or partially in conjunction with
others.

Option A: Invest in a public sector bank. It promises a return of +0.10 %.

Option B: Invest in mutual funds of ABC Ltd. A rise in the stock market will result in a return of +5 %, while a fall
will entail a return of -3 %.

Option C: Invest in mutual funds of CBA Ltd. A rise in the stock market will result in a return of -2.5 %, while a fall
will entail a return of +2 %.

What strategy will maximize the guaranteed return to Shabnam?



61

A 100 % in option A

B 36 % in option B and 64 % in option C
c 64 % in option B and 36 % in option C
D 1/3 in each of the three options

E None of the above

Correct Answer B

Marks 1



Question Description

Correct Answer

Marks

Question below is given a statement followed by three courses of action numbered (A), (B) and (C) . A course of action
is a step or administrative decision to be taken for improvement, follow-up or further action in regard to the problem,
policy, etc. On the basis of the information given in the statement, you have to assume everything in the statement to be
true, then assume everything in the statement to be true, then assume everything in the statement to be true, then
courses of action logically follow(s) for pursuing.

Statements:

Uncontrolled quarrying activity in the neighbourhood has caused many landslides and also cracks to develop in some
buildings in the area which has caused hardship to all the people living in the area.

Courses of action:

A. The Govt. should immediately issue notices to all concerned to stop quarrying activity in the area till further
instructions.

B. Those who are responsible for quarrying should immediately be arrested and put behind bars.

C. The Govt. should set' up a team of officials to gather all the facts and submit a report-which will enable the Govt. to
take an' appropriate decision in this regard.

Only (A)
Only (B)
Only (C)
Only (A) and (C)

None of the above



62 . - . : . . .
Question Description A word and number arrangement machine when given an input line of words and numbers rearranges them following

a different rule in each step. The following is an illustration of input and rearrangement.
Input: always begin from bottom mount high

Step I: aabdho eimty inou ggnooy gmnou isst

Step II: 344 31 23249

Step III: 48 18 72

Step IV:39

Step V: 144

Step V is the last step of the arrangement.

Following the same pattern solve the given input.

Input: fear creates demons only hope defeat

What will be the value obtained in final step of the arrangement?

A 36
B 26
c 81
D 49

E None of the above



63

Correct Answer

Marks

Question Description

Correct Answer

Marks

What will come in place of the question mark (?) in the given number series?
300, 298, 307, 279, 344, ?

265
218
253
289

None of the above



64 Question Description
Direction: In each of the following question, there is a certain relationship between two given pair on both side of "::' .
One word is given on another side of "::' while another word is to be found from the given options, having the same

relation with this word as the words of the given pair . Choose the correct word from the following options.

DBU:EEZ::CJH:?

A DMM

B DNN

c DMN

D DNM

E None of the above
Correct Answer A

Marks 1



®5  Question Description How many pairs of letters are there in the word NURSING which have as many letters between them as in the

alphabet?
A One
B Three
c Five
D Six
E None of the above
Correct Answer B

Marks 1



66 Question Description

Correct Answer

Marks

Directions: Each of the following consists of a question and two statements numbered I and II given below it. You have
to decide whether the data provided in the statements are sufficient to answer the question.

Six batsmen are doing net practice on six days of a week starting from Monday to Saturday. Only one player practises
on one day. Dhoni practises on which day?

Statement I: Virat practises just before Dhoni, who is not the last one to practice. Rohit practises on the first day of the
week immediatley followed by Shikhar.

Statement II: Rohit and Virat practise at a gap of one day such that Rohit practises on Monday. Dhoni practises just
before Rahul.

If the data in statement I is sufficient to answer the question.

If the data in statement II is sufficient to answer the question.

If the data in either statement I or statement II is sufficient to answer the question

If the data in statement I and statement II together are not sufficient to answer the question.

None of the above



67" Question Description A person starts from point A, walks 5m towards south and reaches point B. He then turns left and walks 8m and
reaches point C. He then takes a right turn and walks 6m. He takes a final right turn and walks 8m to reach point D.
What is the distance between point C and D?

A 13m

B 12m

c 10m

D 15m

E None of the above
Correct Answer C

Marks 1



68 Question Description
Directions; In these questions, relationship between differentelements is shown in the statement.

The statements are followed by two conclusions. Choose the correct answer given below:

Statements:Y>P=0, P<R<]

Conclusions:R > Y, 10

A Only conclusion I follows

B Only conclusion II follows.

c Both conclusion I and II follow.

D Neither conclusion I nor conclusion II follows.
E None of the above

Correct Answer B

Marks 1



®9  Question Description Directions: In each question below are given some statements followed by some conclusions. You have to take the
given statements to be true even if they seem to be at variance with commonly known facts. Read all the conclusions
and then decide which of the given conclusions logically follows/follow from the given statements, disregarding
commonly known facts.
Statements:
All floors are buildings.
All doors are buildings.

Some buildings are not houses.

Conclusions:
I. Some floors are not doors.
II. Some houses may not be buildings.

A If only conclusion I follow

B If only conclusion II follow

c If neither conclusion I nor conclusion II follows
D If both the conclusions follow

E None of the above

Correct Answer B

Marks 1



70" Question Description Humans and robots can both perform a job but at different efficiencies. Fifteen humans and five robots working
together take thirty days to finish the job, whereas five humans and fifteen robots working together take sixty days to

finish it. How many days will fifteen humans working together (without any robot) take to finish it?

A 36

B 32

c 45

D 40

E None of the above
Correct Answer B

Marks 1



1 Question Description January 1, 2007 was Monday. What day of the week lies on Jan. 1, 2008?

A Monday

B Tuesday

c Wednesday

D Sunday

E None of the above
Correct Answer B

Marks 1



72 Question Description There are 81 litre pure milk in a container. One third of milk is replaced by water in the container. Again one third of

mixture is extracted and equal amount of water is added. What is the ratio of milk to water in the new mixture?

A 1:2

B 1:1

c 2:1

D 4:5

E None of the above
Correct Answer D

Marks 1



73 Question Description I fthere is an oil-supply disruption resulting in higher international oil prices, domestic oil prices in open-market
countries such as the United States will rise as well, whether such countries import all or none of their oil.

Which of the following conclusions is best supported by the statement in the passage?
A Domestic producers of oil in open-market countries are excluded from the international oil market when there is a
disruption in the international oil supply.

B International oil-supply disruptions have little, if any, effect on the price of domestic oil as long as an open-market

country has domestic supplies capable of meeting domestic demand.

c The oil market in an open-market country is actually part of the international oil market, even if most of that country's
domestic oil is usually sold to consumers within its borders.

D Open-market countries that export little or none of their oil can maintain stable domestic oil prices even when
international oil prices rise sharply.

E None of the above

Correct Answer C

Marks 1



74 Question Description

Correct Answer

Marks

Directions: Read the following information carefully and answer the questions given beside.

Certain number of persons (that does not exceed 15) are standing in a straight linear row facing towards the north. 5
persons stand between B and E, who is third to the left of A. U is to the right of A. Not more than 3 persons stand
between U and T. B is third to the left of U. I is fifth to the right of T. 2 persons stand between E and F, who is sitting at
the extreme left end of the row.. Three persons stand between A and L, who is towards the right of E.

What is the position of E with respect to L?

4th to the left
7th to the left
6th to the right
5th to the left

None of the above



75 Question Description In a certain code DESIRABLE is written as JTFEQFMCB, how is DIMENSION written in that code?

A FNJEMTJPO

B FNJEOOPIT

c FNJEMOPJT

D EJNFMOPJT

E None of the above
Correct Answer C

Marks 1



